AFLEITHEF SH6EIR 188 FRISE45% AFLIE 1
TEAEBR) BT EFEET KE DR FERRLEE BRKEERIETE
P 7 MAS (B A #A) 220,924,000 FEMISEFIRE) 200,840,000/
AHARK ERHFE AL SEFLE 98.1%
SEALE Mt -FE—ARHEREEAK

TP AR EBEFIRE . B A:F) = =

1[EH 2[E1B 3EH

tHE-FE— LR EFEE 197,000,000 SEFL
INEF- I — AR H R EE 199,100,000
FEAR - — R EEFAE 198,500,000
£ 3 - FREE - HEE— iR R A 199,800,000




AFLEITHEF SH6EIR 188 FRISE45% AFLIE 2
TEAEBR) BTIEFRET K08 kL3S 1E BRKEEIBISE
P 7 MAS (B A #A) 11,792,000 FEMISEFIRE) 10,720,000
AHARK ERHFE AL SEFLE 97.0%
EALE WRFS AR
P AR EBEFIRE . B A:F) s =
1[EH 2[EH 3EH
st EER R 10,500,000
R A 10,650,000
WRFS AR 10,400,000 AL
INFF T EEW 10,600,000
()] PR+ 37 B 10,500,000
BEARHM T XML T 5 10,490,000
LLIFR 32 20 10,550,000
(BHBEERT X 10,670,000
(R P E% s T 3% 10,540,000




ARLEITHEF SHM6E3A 188 FHISH45% AFLIE 3
THERAEBR) FIEXEDILTHR #%E BRKEEBRISE
P 7 MAS (B A #A) 8,327,000 FEMISEFIRE) 7,570,000
AHARK ERHFE AL SEFLE 98.8%
EALE FREEARM TEBERLLT 5
PUPe— AR EBEFIRE . B A:F) s =
1E B 2[E B 3EH
st EER R 7,620,000
R A 7,640,000
WRFS AR 7,650,000
INFF T EEW 7,600,000
()] PR+ 37 B 7,560,000
BEARM TEMHRL T 15 7,480,000 SEFL
LLIFR 32 20 7,700,000
(BHBEERT X 7,730,000
(R P E% s T 3% 7,580,000




AFLEITHEF SH6EIR 188 FRISE45% AFLIE 4
TEAEBR) &)l rEIHAINEERR AIKEEIBISE
P 7 MAS (B A #A) 45,793,000 FEMISEFIRE) 41,630,000
AHARK fEaBREAR EHLE 97.9%
EALE WRFS AR
PUPe— AR EBEFIRE . B A:F) s =
1E B 2[E B 3EH

st EER R 41,250,000
R A 41,200,000
WRFS AR 40,750,000 SEFL
INFF T EEW 41,400,000
()] PR+ 37 B 41,000,000

BEARM TEMHRL T 15 41,230,000




ARLEITHEF SHM6E3A 188 FHISH45% AFLIE 5
TEAEBR) &)l eI HA)REER AIKEEIBISE
P 7 MAS (B A #A) 25,025,000 FEMISEFIRE) 22,750,000
AHARK ERHFE AL SEFLE 98.0%
EALE (RE] ER 3k 37 B
PUPe— AR EBEFIRE . B A:F) s =
1E B 2[E B 3EH

st EER R 22,400,000
R A 22,480,000
WRFS AR 22,550,000
INFF T EEW 22,550,000
()] PR+ 37 B 22,300,000 SEFL

BEARM TEMHRL T 15 22,520,000
LLIFR 32 20 22,450,000
BHEERERT X 22,600,000
(R P E% s T 3% 22,380,000




ARLEITHEF SHM6E3A 188 FHISH45% AFLIE 6
TEAEBR) @A Eal AR EEIETSE
P 7 MAS (B A #A) 32,945,000 FEMISEFIRE) 29,950,000/
AHARK ERHFE AL EHLE 97.8%
EALE NPT M
TP AR EBEFIRE . B A:F) = =
1[EH 2[EH 3EH
st EER R 29,800,000
R A 29,800,000
WRFS AR 29,500,000
INEF T 209 29,300,000 S&HL
()] PR+ 37 B 29,650,000
BEARHM T XML T 5 29,490,000




ARLEITHEF SHM6E3A 188 FHISH45% AFLIE 7
TEAEHR) HiikE MRERFER KFEBIE(E1SEHR
P 7 MAS (B A #A) 56,584,000 FEMISEFIRE) 51,440,000
ARLAH R E AL SEFLER 98.1%
SEALE kRES A HE
TP AfLEEEFiRE . B4 s =
1[EH 2[E1B 3EH
st EER R 50,650,000
(IEIR 50,700,000
kREEAHE 50,450,000 SEH,
INFF T EEW 51,180,000
()] PR+ 37 B 50,800,000
BEARM TEMHRL T 15 50,950,000




ARLEITHEF SHM6E3A 188 FHISH45% AFLIE 8
TEAEBR) HitiphE AOvyTlR KEEIBISE (E3~6SHFT)
P 7 MAS (B A #A) 24,178,000 FEMISEFIRE) 21,980,000
AHARK ERHFE AL EHLE 97.9%
EALE (I8 FH 37 B
TP AR EBEFIRE . B A:F) = =
1[EH 2[EH 3EH
st EER R 21,800,000
R A 21,750,000
WRFS AR 21,700,000
INFF T EEW 21,800,000
()] PR+ 37 B 21,520,000 SEH,
BEARHM T XML T 5 21,600,000




ARLEITHEF SHM6E3A 188 FHISH45% AFLIE 9
TEAEBR) HitiphE AOvyTlR KEEIBISE (E7~8S5HF)
F 7 (H A& (F A #) 39,523,000 FEMISEFIRE) 35,930,000
AHARK ERHFE AL SEFLE 98.0%
SEALE NPT M
TP AR EBEFIRE . B A:F) = =
1[EH 2[E1B 3EH
st EER R 35,700,000
(IEIR 35,800,000
WRFS AR 35,700,000
INEF T 209 35,200,000 S&HL
()] PR+ 37 B 35,450,000
BEARM TEMHRL T 15 35,900,000




